FRTOEFBFRICOWT

OFm8FOSDEITILERLT,BEWEEHLAY,Z2>FELED
R sLiEYT %5, (REZEE,FH7E302ICHA=ET)
O TREFZ] SEFRIIRE - - - F1E 2500 B TR

O % 1 8 B &
=& EE  BEH% | 4% | BEX  HNI | #hE  EE | FE
B 9 4 3 2 2 3 I I

B E (A, / —FrALTHEEEHELEDTVIT,)

= SR =
8:15
B OQFEQOEREINOZF R DIF
WNIE « FE K- FROBE A 2RO
& 2AFIVP Y THA A
8:30
£ ad =
8:40
1 Rz BF
9:25
9:35
=2 RRZ BF
10:20
10:40
3 Rz BF
11:25
11:35
4 Rz 85
12:20
75 =
13:00
IR G
13:30
1 =S
13:45
13:50
() RRZ BF
14 :35
14:45 B D= wmons |
S A2 BFF (14:50F™"R) 1450F&=
15:30 (300@E)
RODE MR15:20 |
(15:50T™R) 0357
(4558
™R 15:35




